Hypothesis testing
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P1 = Po
X = 0.37=p,

E(x/Ho) = 0.30
var (X/Ho) = po(l — po) 7/ n = 0.30 (1 — 0.30) / 355 = 0.000592

Z? = [X — E(X/Hp)]? /7 var (X/Hy) = (0.37 — 0.3)? /7 0.000592 = 8.28
degree of freedom = 1 (2 x 2 table [2-1]x{2-1}=1 )
Pr[y*> > 8.28] = 0.004
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Var(X/Ho) RR RD
RR
Var[In(RR)] = (1-C1)/N;C; + (1-Cp)/NoCo
N;=exposed

No= exposed

Null hypothesis: C; = C, = C
Var[In(RR/Ho)] = 1-C/C (1/N; + 1/Np)

RD
Var[RD] = |1/N1 + lo/No

Null hypothesis: 1; = 15 =I
Var[RD/Ho] = 1 (1/N; + 1/No)
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Ny No Ny {N: No} Var (RD/Hp) x? p-value
100 100 0.50 0.000198 0.005 0.94
1000 1000 0.50 0.0000198 0.050 0.82
1000 9000 0.10 0.000011 0.091 0.76
5000 5000 0.50 0.00000396 0.252 0.62
10,000 10,000 0.50 0.00000198 0.505 0.48
50,000 50,000 0.50 0.000000396 2.525 0.11
100,000 100,000 0.50 0.000000198 5.05 0.02
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